
SET- 2 

SCIENCE (Theory)    
                     CLASS- IX    

    
1111---- osx esa ifjoÙkZu dh nj gS &     

(a)  pky      (b)      osx      (c)  Roj.k      (d) foLFkkiu 
Rate of change of velocity is : 

(a) Speed          (b)  Velocity          (c)   Acceleration       (d)   Displacement  
    

2222---- buesa ls dkSu lgh ugha gS &  
Which one is not correct : 

(a) v= u + at       (b)  S = ut +  21

2
at      (c)  v2 = u2 + 2as    (d)  v2 + u2 = 2as  

 
3333---- ,d dkj 2h  esa 100 km dh nwjh r; djrh gSA bldh vkSlr pky gSA  

A car travels a distance of 100 km in 2h. Its average speed is : 

(a) 100 km/hr      (b) 50 km/hr      (c) 200 km/hr      (d) 102 km/hr  
 

4444---- fdlh oLrq ds tM+Ro dh eki gS & 
Measure of an object insertion is – 

(a) æO;eku (mass)                   (b) cy (Force) 
(c)    pky (Speed)                          (d)   laosx (momentum)  
 

5555---- 2 kg æO;eku okyh oLrq dks 5m/s2 dh nj ls Rofjr djus esa fdruk cy 
dh vko’;drk gksxh\ 
How much force will require to accelerate a 2kg mass at 5m/s2 ?  

(a) 5N  (b)  10N (c) 2.5N (d)  20N 
 

6666---- jkWdsV dk Á.kksnu fdl fl)kar ij vk/kkfjr gS &  
(a) laosx laj{k.k dk fl)kar     (b) ÅtkZ laj{k.k dk fl)kar 
(c)      æO;eku laj{k.k dk fl)kar   (d) buesa ls dksÃ ugha  
By which law propulsion of rocket works : 

(a) Conservation of momentum          (b)   Conservation of energy 
(c)      Conservation of mass           (d)   none of these  
 

7777---- lkoZf=d xq:Roh; fLFkjkad G dk S.I ek=d gS & 
S.I unit of universal gravitation constant G is : 

(a) m/s2     (b) kg m/s    (c)  Nm2/kg2     (d)  joule 
 

8888---- tc fdlh rjy esa fdlh oLrq dks Mqcksus ij] rjy }kjk oLrq ij Åij 
dh vksj yxus okyk cy dgykrk gS &  
(a) xq:Rokd"kZ.k cy  (b)       mRIykou cy  
(c)      pqacdh; cy    (d)       ?k"kZ.k cy 
When an object immersed in a fluid, The upward force exerted by the fluid on 

the object is called :  

(a) Gravitational force   (b)   Buoyant force 
(c)      Magnetic force                      (d)   Frictional force  
 

9999---- xfrt ÅtkZ dk O;atd gS &  
The expression of Kinetic energy is : 

(a) mgh (b) 1/2mv2  (c) F.S (d) w/t  
 



10101010---- ;fn fdlh fiaM dk foLFkkiu 'kwU; gS rks cy }kjk ml fiaM ij fd;k 
x;k dk;Z gksxk &  
If the displacement of the object is zero then work done on an object by a 

force would be : 

(a) O J (b)  1 J (c)  2 J (d)  9.8 J 
 

11111111---- ÅtkZ dk O;kolkf;d ek=d gS &  
Commercial unit of energy is : 

(a) KW (b)  kwh (c)  Joule   (d) Watt 
 

12121212---- /ofu rjaxs gksrh gS &  
(a) vuqÁLFk rjax   (b)     vuqnS/;Z rjax 
(c)      a vkSj b nksuksa  (d) buesa ls dksÃ ugha  
Sound waves are : 

(a) Transverse wave (b)    Longitudinal wave 
(c)      (a) and (b) both  (d)    None of these  
 

13131313---- lkekU; euq"; ds dkuksa ds fy, JO;rk ijkl D;k gS\ 
What is the audible range of the average human ear ? 

(a) 20Hz  ls  20,000Hz (b)  20Hz   ls 2000Hz 
(c)     200Hz  ls    20,000Hz  (d) 200Hz   ls  2000Hz  
 

14141414---- fuEufyf[kr esa ls dkSu&ls inkFkZ gSa\ 
(a) Lusg (b)    xa/k  (c)    ?k`.kk  (d)   ok;q 
Which of the following is a matter ? 

(a) love (b)  smell   (c)  hate   (d) air 
 

15151515---- fdl voLFkk esa v.kqvksa dh ÅtkZ vf/kdre gksrh gS\ 
(a) Bksl (b)  æo  (c)  xSl  (d)  buesa ls dksÃ ugha 
In which state the energy of molecules is highest ? 

(a)  solid  (b)  liquid    (c)  gas  (d) none of these 
 

16161616---- 100c rkiØe cjkcj gS % 
(a) 163k (b)  283k    (c) 10k   (d) 186k 
100c temperature is equal to : 

(a) 163k (b)  283k    (c) 10k   (d) 186k 
 

17171717---- fuEufyf[kr esa dkSu foy;u gS\ 
(a) lkcqu foy;u   (b)  yo.k foy;u 
(c)      pkWd ty feJ.k  (d)  LVkpZ foy;u 
Which of the following is a solution ? 

(a) soap solution  (b)  salt solution 
(c)     chalk water mixture (d)  starch solution  
 

18181818---- 'kksjs dh ty esa foys;rk 200c ij 31-5 gSA bl rki ij 10 xzke ty 
esa fdruk 'kksjk ?kqyk;k tk, fd foy;u lar`Ir cu tk,\ 
(a) 0.315g  (b) 3.15g  (c) 31.5g  (d) 315g 
The solubility of nitre in water is 31.5g at 200c. How much nitre should be 

dissolved in 10 gm of water to get a saturated solution ? 

(a) 0.315g  (b) 3.15g  (c) 31.5g  (d) 315g 
 
 



19191919---- fuEufyf[kr esa dkSu feJ.k gS\ 
(a) pk¡nh  (b)  gkbMªkstu (c) ty   (d)  ok;q 
Which of the following is a mixture ? 

(a) silver (b) hydrogen (c) water      (d) air 
 

20202020---- vkoksxkMªks la[;k dk eku D;k gS\ 
(a) 1.99 X 1023  (b) 1.99 X 1022 
(c)      6.022 X 1023  (d) 6.022 X 1022 
What is the value of Avogadro number ? 
(a) 1.99 X 1023  (b) 1.99 X 1022 
(c)      6.022 X 1023  (d) 6.022 X 1022 
 

21212121---- 0-5 eksy H2O dk æO;eku gksxk\ 
(a) 18 g (b)  9 g (c) 5 g (d) 1.8 g 
The mass of 0.5 mole H2O is ? 

(a) 18 g (b)  9 g (c) 5 g (d) 1.8 g 
 

22222222---- ty ds ,d v.kq esa gkbMªkstu ,oa vkWDlhtu ds Hkkj dk vuqikr gksrk 
gS % 
(a) 1:16 (b) 1:8 (c) 8:1 (d) 2:1 
The weight of hydrogen and oxygen in water molecule is in the ratio : 
(a) 1:16 (b) 1:8 (c) 8:1 (d) 2:1 
 

23232323---- gkbMªkstu ijek.kq esa dkSu&lk d.k ugha gksrs gSa\ 
(a) ÁksVkWu (b) U;wVªkWu  (c) bysDVªkWu  (d) buesa ls dksÃ ugha 
Which particle is not present in hydrogen atom ? 

(a) protons (b) neutrons   (c) electrons (d) none of these 
 

24242424---- jnjQksMZ dk vYQk d.k Ádh.kZu Á;ksx fdldh [kkst ds fy, mÙkjnk;h 
Fkk\ 
(a) ijek.kq dsUæd  (b) bysDVªkWu (c) ÁksVkWu (d) U;wVªkWu 
Rutherford’s alpha particle scattering experiment was responsible for the 

discovery of : 

(a) atomic nucleus   (b) electrons (c) protons (d) neutrons  
 

25252525---- Cl- vk;u esa la;kstdrk&bysDVªkWuksa dh la[;k gSa % 
(a) 16  (b) 8  (c) 17  (d) 18 
Number of valence electrons in Cl- ion are 

(a) 16  (b) 8  (c) 17  (d) 18 
 

26262626---- bysDVªkWu lw{en’kÊ dk vf/kdre vko/kZu gS & 
(i) 100 X       (ii) 1000 X      (iii) 20,000 X (iv) 2,00,000 X 
The maximum magnification of electron microscope is – 

(i) 100 X       (ii) 1000 X      (iii) 20,000 X (iv) 2,00,000 X 
 

27272727---- Ikni vkSj tUrq dksf’kdk esa Áeq[k vUrj gS & 
(i) iks"k.k laca/kh    (ii) xfr laca/kh     
(iii) o`f) laca/kh  (iv)  'olu laca/kh 
Main difference between plant and animal cell is – 

(i) related to nutrition   (ii)      related to motion  
(iii)    related to growth   (iv)     related to respiration  
 



28282828---- ew¡xQyh vkSj cknke ds fNydksa esa ik;s tkrs gSa & 
(i) gfjr yod   (ii) vUrj dksf’kdh; LFkku  
(iii)  Lo&ysjhM~l    (iv) pkyeh iÍ 
Found in the shells of groundnut and almond are – 

(i) Chloroplast  (ii) intercellular space 
(iii)    Sclereids    (iv) sieve plate   
 

29292929---- dkdZ dksf’kdkvksa esa ik;k tkrk gS & 
(i) ySVsDl   (ii)  lsyqykst  (iii)  lqcfju  (iv)  fyfXuu 
Cork cells contain –  

(i) Latex  (ii) Cellulose (iii) Suberin   (iv) Lignin 
 

30303030---- dkafMª;ksCykLV dksf’kdk,a ik;h tkrh gSa & 
(i) n`<+ Ård esa  (ii)  vfLFk esa (iii)  mikfLFk esa (iv)  jä esa 
Chondrioblast cells are found in – 

(i) Sclerenchyma     (ii) bone   (iv) cartilage  (iv) blood 
 

31313131---- Tokyk dksf’kdk,¡ ikÃ tkrh gSa & 
(i) VsioxZ esa  (ii)  xksyÑfe esa  (iii) dhV esa  (iv)  tksad esa 
Flame cells are found in – 

(i) Tape worm  (ii) round worm  (iii) insect  (iv) Leech 
 

32323232---- es<+d gS & 
(i) mHk;pj  (ii)  ljhl`i  (iii)  Ñfe  (iv)  vkFkzksZikWM 
Frog is – 

(i) Amphibian          (ii) reptilia  (iii) worm   (iv) Arthropod  
 

33333333---- ,usfyMk esa ik;s tkus okys mRltZurU= dks dgrs gSa & 
(i) xqnkZ  (ii)  usÝhfM;k  (iii) vkfLVvksy  (iv) fLijsfdy 
The excretory system found in annelida is called –  

(i) Kidney  (ii) Nephridia  (iii) Osteole   (iv) Spiracle  
 

34343434---- ,d fo’oO;kih chekjh gS & 
(i) Vh0ch0  (ii)  gStk  (iii)  fljnnZ  (iv)  ,M~l 
A cosmopolitan disease is –  

(i) T.B.   (ii) Cholera   (iii) headache  (iv) AIDS 
 

35353535---- ,d laØked jksx gS & 
(i) ân; jksx   (ii)  dSalj   (iii)  dq"B jksx  (iv)  gStk  
An infections disease is – 

(i) Cardiac disease  (ii)  Cancer   (iii) Leprosy  (iv) Cholera  
 

36363636---- dkSu ÁkÑfrd lEink ugha gS\  
(i) [ksr   (ii)  ty   (iii)  ok;q   (iv)  dks;yk 
Which one is not a natural resource ? 

(i) crop-field    (ii)  water   (iv) air   (iv) coal  
 

37373737---- vkstksu gS & 
(i) æo   (ii)  ok"Ik  (iii)  Bksl  (iv)  xSl 
Ozone is – 

(i) Liquid  (ii) vapour   (iii) solid   (iv) gas  
 



38383838---- ,d ÁkÑfrd lEink gS & 
(i) ty  (ii)  ok;q   (iii)  feÍh   (iv)  ;s lHkh  
Which is a Natural Resource ? 

(i) water  (ii)  air   (iii)  soil   (iv) All of these  
 

39393939---- EDB  D;k gS\ 
(i) /kwed (ii)  moZjd  (iii)  gkjeksu  (iv)  Áfr tSfod 
EDB is –  

(i) Fumigant   (ii)  Fertilizer  (iii) Hormone  (iv) antibiotic  
 

40404040---- ,d lw{e iks"kd rRo gS & 
(i) tLrk   (ii)  ukbVªkstu (iii)  QkLQksjl  (iv)  iksVSf’k;e  
A micro-nutrient is –  

(i) Zinc   (ii) Nitrogen  (iii)  Phosphorus  (iv)  Potassium   


